

| MEASUREMENT SHEET | | | | | | | | |
|--------------------|------------|-----------------------------|-------------|------------------|-------------|-----------------|-------------------------------|----------------------|
| Company Name: | | Manilal Modi Memorial | | Approved by: | | Sai kumar Reddy | | |
| Project: | | MCMET | | Sign: | | | | |
| Work Description : | | Granite | | Work start date: | | 15-12-2025 | | |
| Contractor | | Tara chand | | Work end date: | | 02-01-2025 | | |
| Prepared By: | | K.Praveen | | Date : | | 12-02-2026 | | |
| S No. | Item Head | Item Description | A Length | B Width | C Height | D No's | E=A xBxCxD Quantity in sqm | F Quantity in sft |
| | MCMET | | | | | | | |
| 1 | West side | Granite external cladding | 1.00 | 0.30 | 0.50 | 60.00 | 9.00 | |
| 2 | South side | Granite external cladding | 1.00 | 0.30 | 0.50 | 35.00 | 5.25 | |
| 3 | East side | Granite external cladding | 1.00 | 0.30 | 0.50 | 70.00 | 10.50 | |
| 4 | North side | Granite external cladding | 1.00 | 0.30 | 0.50 | 45.00 | 6.75 | |
| | | | | | | | 31.50 | 338.94 |
| 1 | West side | Chamfering & edge polishing | 1.00 | 1.00 | 0.50 | 120.00 | 60.00 | |
| 2 | South side | Chamfering & edge polishing | 1.00 | 1.00 | 0.50 | 70.00 | 35.00 | |
| 3 | East side | Chamfering & edge polishing | 1.00 | 1.00 | 0.50 | 140.00 | 70.00 | |
| 4 | North side | Chamfering & edge polishing | 1.00 | 1.00 | 0.50 | 90.00 | 45.00 | |
| | | | | | | | 210.00 | 688.8 |

| ESTIMATE SHEET | | | | | | | Approved By | |
|-------------------|-----------------------|-----------------------------|----------|-------|-------|-----------|-----------------|---------|
| Company Name: | Manilal Modi Memorial | | | | | Sai kumar | | |
| Project: | MCMET | | | | | | | |
| Work Description: | Granite | | | | | | | |
| Contractor | Tara chand | | | | | | | |
| Prepared By | Praveen.K | | | | | | | |
| Bill Date: | 12-02-2026 | | | | | | | |
| S No. | Item Head | Item Description | Quantity | Units | Rate | Amount | Item Head Total | Remarks |
| | MCMET | | | | | | | |
| 1 | Building all sides | Granite external cladding | 338.94 | sft | 45.00 | 15252.30 | | |
| | | Chamfering & edge polishing | 688.80 | rft | 15.00 | 10332.00 | | |
| | | | | | | | 25,584.30 | |

Labour Charges
Tarachand
MUHARPALLY
Hyderabad

Date: 14-02-2026

In favor of : Manilal Modi Memorial
Project/Site: MCMET
Location: MUHARPALLY

Type of Work: Granite work

Towards : Labour Charges

| S.No. | Description | Amount |
|-------|--|------------------|
| 1 | Breif discription of work: Towards building external cladding work | 10,233.60 |
| | Total amount: | 25,584.00 |

Amount in words: Ten thousand two hundred thirty three rupees only/-

Sign: _____

**Allowance For Equipment
Tarachand
MUHARPALLY
Hyderabad**

Date: 14-02-2026

In favor of : Manilal Modi Memorial
Project/Site: MCMET
Location: MUHARPALLY

Type of Work: Granite work

Towards : Allowance For Equipment

| S.No. | Discription | Amount |
|-------|---|------------------|
| 1 | Breif discription of work: Towards building external cladding work | 10,233.60 |
| | Total amount: | 25,584.00 |

Amount in Word: Ten thousand two hundred thirty three rupees only/-

Sign: _____

Allowance For Consumables
Tarachand
MUHARPALLY
Hyderabad

Date: 14-02-2026

In favor of : Manilal Modi Memorial
Project/Site: MCMET
Location: MUHARPALLY

Type of Work: Granite work

Towards Allowance For Consumables

| S.No. | Discription | Amount |
|-------|---|-----------------|
| 1 | Breif discription of work: Towards building external cladding work | 5,116.80 |
| | Total amount: 25,584.00 | |

Amount in Words: Five thousand one hundred sixteen rupees only/

Sign: _____